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" Let f be differentiable at x = 0 and f'(0) = 1. Then lim

Let f(x) = [tanx], (where [.] denotes greatest integer function). Then -
(A) Iim f(X) does not exist (B) f(x) is continuous at x = 0.

(C) f(x) is not differentiable at x = 0 (D) f(0) =1

The number of points where f(x) = [sin x + cosx] (where [] denotes the greatest integer
x € (0,2m) is not continuous is -

(A)3 (B) 4 ©rs (D) 6
If 6,8 and 12 are ™ m™" and n™ terms of an A.P. and f(x) = nx? + 2Ix — 2m, then the equation
f(x) =0 has -
(A) a root between 0 and 1 (B) both roots imaginary-
(C) both roots negative. (D) both roots greater than 1.
f(h)— f(=2h) _
h

function),

(A)3 (B) 2 ©)1 (D) -1 Y
3} —4Jx+1 for x<1 SBG STUD

L}/ Let g(x)= [ ax+b for x21

&7/' The function 8(X)= [cos 2 520 |

®

" Which one of the following functions is continuous everywhere in its domam but has atleast oné

If g(x) is continuous and differentiable for all numbers in its domain then -
(A)a=b=4 B R

ya=4andb=-4 Blausi-Crari it
If f(x) f) + 2= f0) + fO) + J69) and f(1) = 2, fi(1) = 2 then sgn f(x) is equal to
(where sgn denotes signum function) -
) 2 (O (D) 4

x+b, x<0
can be made differentiable at x = 0 - f

(A) if b is equal to zero (B) if b is not equal to zero
(C) if b takes any real value (D) for no value of b

" point where it is not differentiable ?

_Ixl
@J@=x" (B f(")"x— T ©f®=¢ 3 (D) f(x) = tanx

If the right hand derivative of f(x) = [x] tan nx at x = 7 is kn, then k is equal to
([y] denotes greatest integer <Y)

(A) 6 B)7 ©) -7 (D) 49
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10., Let fiR £ R be a continuous onto function satis in + f(—x) = 0. ¥xeR. If f(-3) =2 and
¢ [(5) =4 in [-5,5], then the equation f(x) =0 hasfy- ol () KT He

(A) exactly three real roots (B) exactly two real roots
(C) atleast five real roots (D) atleast three real roots

( n
- 1‘5)
R )(cm ¢) (pe+2)

yel f(X) = { n—® ( - )n
4 | cot “4’" +1

0

> ’

, xe(0,1)u(l,2)

x =1
If f(x) is differentiable for all xe(0,2) then (a? + p?) equals -
(A) 18 : (B) 20 (C) 22 (D) 24
12. If 2x + 3|y| = 4y, then y as a function of X i.e. y = f(x), is -
) (A) discontinuous at one point
(B) non differentiable at one point
(C) discontinuous & non differentiable at same point

(D) continuous & differentiable everywhere
K If f(x) = (Jrc5 +1) |x2 — 4x — 5| + sinfx| + cgs(lx — 1), then f(x) is not differentiable at -

(A) 2 points (B) 3 points (C) 4 points (D) zero points
x* +2x° xeQ : ! e — .
14, Let f(x) = , then the integral value of ‘a’ so that f(x) is differentiable at
x>+2x*+ax x¢Q
x=1,1s
(A)2 (B) 6 )7 (D) not possible

1S, Let R be the set of real numbers and f : R > R, be a differentiable function such that

lfx) - f@l<x -y VxyeR If £(10) = 100, then the value of f(20) is equal to -
(A) 0 (B) 10 (C) 20 (D) 100
16. For what triplets of real numbers (a, b, ¢) with a # 0 the function

X x5l .
f(x) = sz +bx+c otherwise is differentiable for all real x ?
(B) {(a, 1 —2a,¢)|a,c € R, a0}

(A) {(a, 1 -2a,a)|ac R, a#0}
(D) {(a, 1 -2a,0)|a €R,a#0}

©) {(a b,¢)|a bceRatbtc=1]
7.//Number of points of non-differentiability of the function 4
: A | ‘
g(x)=[x2] {cgi; 4x} + { xz}'fcos2 4x] + x2 sin? 4x + [xz]fct:os2 4x] + {x2}{cos? 4x} in (=50, 50) where [x]
and {x} denotes the greatest integer function and fractional part function of x respectively, is equal

to :- ;
(A) 98 (B) 99 (C) 100 (D)0




